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MATHEMATICS QUIZ CONTEST 2013-14
IIOTA ST 7aef - 2013-14
Written Test - Preliminary Round (St Qe - TR Hit)

Date : 22-9-2013
Maximum Marks : 50

TV : 50

Time : 1 Hour
b Std. VI & VII

Each question carries 2 Marks

Answers should be written with Pen.

Cancelled and overwritten answer will be not be considered.
4) Answer should be written in box provided after each question.
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1. Write following number in figures. - Eighteen million and Sixty

JeIel ST STehTel foeT - st evTeer ars

o 2. IfET) A = 200420042004 x 2005200520052005 and
B= 200520052005 x 20042004

Find the value of A/B. & A/B i fEaqerar

Find the value of x

T x o fFaa @,

(5]

4. If(3A5) =4; (9AS5) =7 then find the value of (17A1) A25

SR(345) =4;(9A5) =7 T(17A1) A25 S frmgarer [ &
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il.

12.

Letter M,A,T,H,S, denote positive real numbers such that MXA=12; TXH=30;
AXH=24; AxT=20; H xS =42 then find the Value if MATHS.

M,A,T,H,S & 37eR 47 Qe & 3TMed. S MxA=12; TxH=30; AxH=24;
AXT=20; HxS=42TMATHS i fFra =

A collection of sheep and chickens have a total of 91 heads and legs among them.
There are twice as many sheeps as chickens. How many chicckens are there?

TehT Y1ooAT I ShiarSTeAT fUetieaT IaTd Sient 9 U g Tenfad ot 91 §i. ST Yleedie! Fea
AT §Ei= gWe ST Shidera! (70 fohdl B idl 2

On a road map, if a 7cm legth represents 56 km; How many kilometers does a 19cm
length represent?
TehT T T=AT HahTSTTa 76 T, TSt 56 forwt 31aaTd at Aarmarer 19 |t anstana! fadt fapdt

RICIEIRESIEE P

A rectangle is divided into 50 small squares of same size. Among the squares- a) 1%
coloured in red b) 10% coloured blue c) 20% coloured yellow d) how many squares
are not coloured? What % of squares are not coloured.

TS STEATEAT 50 A IICEAY HHRTer &7 SREe! 2) 1% SR @ 36 b) 10% 8
TEet ¢) 20% fia@ d) & feret i Crarg= tfeer? fordt o =g Trama= Tfee ?

VCM =? write the number in international numeral
VCM =? &1 U1 §ISil 3fehTd fetar.

It ‘%‘2' —9 then find 4th odd number before x

Y xTz — 9 X AT et 4oft fayn GEAT T,

Find the greatest 5 digit number divisible by 18 and 24.
18 9 24 AT G@THT W STOTRT RIS HIG 1 qTel 37eh | T TIe.

What will be the remainder when 20000000008 is divided by 3?
20000000008 ATHBIET 3 =T T T fefeil qrehl ST ? i
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18.

If 173 digits were used tc number the pages of a book starting at page 1, then how
many pages will be there in the book?
TS JEAShTd U hHfeh SIavaTaTa! 173 3{ehi=T AU shell. Jefehtd I 6. 1 T gedrd

SHedTd T fehelt OT 37eeiier ?

What i_s differcnce between 80% of 1700 and 3/5 of 17007
1700 < 80% 3TIUT 1700 AT 3/5 Y2 IdieT Bian fopail ?

In a class of childern one quarter has only one pet, two thirds have two pets, if no one
has more then 2 pets, what fraction of the class has no pets at all.

TepT aTTieter faareattent went wrqatyr faameafes ww weta wioft g, < gara faaeaies
T TS WIOT B, ShIUTeRS &1 Wedeh! auer SR W9 WU Tead ¥ aiater forat T
faameatars wredta mot T ?
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Each triangle in figure (i) is of same measure in triangle in figure (i’ Find perimeter of

figure 1) .

St st () At weer IO W1 Sy () Wit BrentumT 31 7Y (@«
ftfaret e,

Simplify. (EYTTE)

6 (i) 45 1082
3 X (21-32) 9

A man buys 10 articles for Rs. 8 and sells them at the rate of Rs. 1.25 per article. Find

his gain percent. |
Teh HIUTE 10 T, 77 8 I farshe 8l & Wedh! . 1,25 WHIOT ferehell o = 9. 7 fefeft 2
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. Complete the Crosswords. : . %

HISITHEA S IR 37T 9.
Across - (3T€d) Down - (3¥)

1)109 x 7 O + 4 = 1787 !
3)318 X 6 A +9=334
4) 538 % 8 %

Find the number of 3 digit number that are divisible by 9 and contain no even digit.

TR A 3R] FEAT ST T ST 9 T qUT W ST o o T Uehe! T 37eh el

Ifa/2 = b/3 = ¢/5 and abc = 810 find the value of b
ST a/2 = b/3 = ¢/5 3T abe = 8107 ‘b’ Hf fFga =TT,

Express, 3.25 hours + 1.50 hours + 2.50 hours in hours and minutes.
ST, 3.25 99 + 1.50 A + 2.50 A, T ST A & {7 a1 w@eara feren

An equilateral triangle and square have equal perimeter. what should be the maximum
length of side of the triangle and the square if both lengths are greater than 20 and less
than 50.

T Tyt T @ S aftfie gEe o, SR feRiver @ SR e it
20 F 50 ST SCAT 37U TR FHeh10T & wTeAT SISt ST ST siial foheil S8 ?

Find the area of the shaded portion. STS[EAT ST LT YT &HHeS Hel.

c —> 28 m D

A person has started his journey from A and visiting all places denoted by B, C, and D
and came back to his original place. While returning back he visited either B or C.
Find shortes route for his return journey.

THHT TIUTHT STIE TATH A 1 fSeToTarg & e B, C, D, A1 fash1oriar 92t &g quf eher.
AT YT T S a7 ST B fohar C amiert wen f3eRTor ST ST 3ae! ¥ SRl 4eht
SFreftere el STECET Gt ehoTaT? | |




